1. o5 183 o] AB = AC ¢ o] 5HAZE ABC oA LA = 58°
Ao, 2x ©] 27|17

A

58

@D 118° @ 119° 3 120° @ 121° B 122°



o2 = T A1ZMaH7He ABC, DEF 7} A2 gH50] Bl= X740 ofd
AL
A E
F
B C D
O AB=DE, BC=EF ® AB=DE, /A =/D
® /A =/D, /C=/F @ /A = /D, AC =DF

® AC =DF, BC = EF




B (] X

Q

AB=AColB&

(ABC =| (7}

(PBC =| () [,ABC, .PCB=[ (1} /ACB
NG

=3 APBC 4 Wztel 27|17k gomz | (=2h |olth
A £ o] S WAzt

_I

® () .ACB @ Lh2
® ) /PBC = /PCB @ @) PB=PC
® @) APBC



® 62° 3 64° @ 66° B 68°

@D 60°



th3 T3 o] Zo] AA3t Fo] Ho|mE Hlth /CAD = 75°
d o, x9 Z71=?

@D 20° ® 25° ® 30° @ 35° ® 40°



6.

S 189 AABCE /A =90°, AB = ACQl B Zto]5H

th. BA=BD, ED =DC ¥ ], o2 &7 &2 227

C

@D AABE = ADBE @ /DBE = /ABE
® AE =EC @ AE =DE =DC

3 /DEC = /DCE



I o] /B =90° o], AB BC &l #7te] 54 J# ABC 9]
T A" A, ColA FAH B E A= 24 1o f& =49 HE
Z¥z+ D, E 2k 512} AD = 10cm, CE = 6cm ¥ U’H, A oé CDE
o] yo|=?
A
\
\
\
\
\\ l
IOcr\n E
) 6cm
\
\
B C
@ 12cm? @ 24cm? ® 30cm?2

@ 60cm? 3 90cm?2






@D 40° ® 44° B 48° @ 592° B 56°



10. o3 189 AABC oA /B 9] £]Z+e] o] 58241} £C 9] 2129 o]
SH Mol wHLS Pt 5k1, /BAC = 80° ¥ ©f, /BPC 9] 37]=?

A 45° ? 50° 3 5h° @ 60° B 65°



